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Objective : To understand the leaf structure and write the equation of
photosynthesis.

Resources : book pages 84 , 85
Workbook pages : 39



Photosynthesis :

The word equation of photosynthesis :
sunlight

e

chlorophyll

“*Leafcellsabsorbthe carbon dioxide they need from air.
“*Wateris transported from the roots in xylem vessels
“*Glucose stores energy..

“*Stored energy is transferred along food chainsto animals.



Activity 1 : Match each leaf adaptation to its function in photosynthesis

1. Thin a. to allow gases to diffuse easily.
2. Can change b. contain chlorophyll that absorbs
direction- light energy from the Sun.
3.Large surface area S ~_—«to reduce water loss.

a.Waxy layer on the

top of the leaf d.to face the sunlight.
5. chloroplasts e. to absorb more light.

—+. to transport water to the leaf

6. \Veins —
and glucose away from the leaf.

7. Many stomata g. to allow for gas exchange.




cuticle

epidermis (upper)

xylem
phloem e . B 3—> Spongy
bundle __ 25 - mesophyll
sheath
vein
epidermis (lower)

(vascular
bundle)
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= Describe the importance of R

plants to life on Earth i

chemical
energy

carbon
released dioxide
= —+
respiration wvwater
Sy o extra

biomass
Plants use some of the glucose

they make for respiration and the
rest for growth .
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Why we need plants

Biommass

All the wood in these tree trunks is

biomass, which is the material living
things are mmade of. This biomass was
made from air and water:

Ho~w is that
possible?

Plant cells use chemical reactions to
build biomass. To do this they need
two stnall molecules — carbon dioxide
and water — and energy from the Sun.

The solar energy enables plants
to build larger molecules such as

air and wvwater.

slucose from the atoms in carbon dioxide and water: The reaction also relea
oxyvegen. This chemical reaction is

rhotosymnthesis. It sustains life on Earth.

carbon
dioxide

—+ wvwater

oxygen

light
energy

All the food we eat comes from the slucose plants make. All the oxve A=
breathe comes from the oxyvesen they releasce.

Energwvw

Glucose molecules contain Sto1

slucose using respiration.

ed energy. Cells can releasce energy fron
ceach other

Photosynthesis and EeSpiration aare the reverse <k
Photosynthesis stores Snersey, and respiration releases it.
A plant uses about half the slucose it makes to release encer-
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- Qtosymhesis takes place in the tall thin palisade cells near the t
L W “ "/‘ ) : :
i @ﬁj can take a closer look at them on page 43. They have plentypof
' ¥

i _& plasts t0 absorb light energy. |
» _@@; ; ,g water and minerals from the roots up the stem to the leaves. The water
travel along hollow tubes called xylem (see pages 88 and 89).
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W diffuses into the leaf from the air through tiny pores called,
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|ls don't need ditfuses out through 1 4

M

)

[
1

’! ‘
/€

o
-

s
es 10 circulate, Any oxygen that the ce

§t0
[ow 0N

O] 1-9«({(‘
;v_', L"—;Y‘ 33

4 This SEMimage shows the starch
grains inside a potato cell -
mannified 640 times.



Questions 3,4,5 page 85

Q3. glucose is used for
respiration

Q4. glucose is stored as starch
Q5. the sun




Workbook page 39
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Workbook page 39

Answer :

Palisade cells — contain most chloroplasts to absorb light.

Stomata — tiny pores which let gases in and out of leaves.

Xylem vessels — hollow tubes that carry water up from the roots.
Mesophyll cells — form a spongy layer which gases can diffuse through



